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QUESTION 1

Click the Exhibit button. 

Refer to the exhibit and the Storage Class information shown below. 

What are the minimum IOPS, maximum IOPS, and burst IOPS assigned to the persistent volumes that were created by
Trident? 

A. "minlOPS": 600C, "maxIOPS": 8000, "burstlOPS": 10000 

B. "minlOPS": 4QG0, "maxIOPS": 6000, "burstlOPS": 8000 

C. "minlOPS": 50, "maxIOPS": 50, "burstlOPS": 50 

D. "minlOPS": 1000, "maxIOPS": 2000, "burstlOPS": 4000 

Correct Answer: D 

 

QUESTION 2

During software development, a team creates use cases, class diagrams, Unified Modeling Language models, software
architecture documents, requirements documents, and design documents. Collectively, in this scenario, what are these
tangible by-products called? 
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A. application programming interface 

B. software development kits 

C. build tools 

D. artifacts 

Correct Answer: B 

 

QUESTION 3

What are the three pillars of observability in DevOps? (Choose three.) 

A. traces 

B. errors 

C. metrics 

D. versions 

E. logs 

Correct Answer: ACE 

Explanation: https://www.dynatrace.com/resources/ebooks/three-pillars-of-
observability/#:~:text=Observability%20is%20divided%20into%20three,called%20three%2
0pillars%20of%20observability. 

 

QUESTION 4

Your company uses all four of NetApp\\'s storage offerings: ONTAP, StorageGRID, Element, and E-Series. You are
asked to provide persistent storage to the OpenShift group by using NFS. 

In this scenario, which of the available storage deployments would provide access? 

A. StorageGRID 

B. ONTAP Select 

C. E-Series 

D. Element 

Correct Answer: C 

 

QUESTION 5

You are asked to provision storage for a development team to make use of NetApp Trident in their Kubernetes
environment. You want to ensure that Trident will not be able to exhaust the storage system resources. 
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In this scenario, which two actions would you take to satisfy the requirements? (Choose two.) 

A. Limit the maximum volume count. 

B. Limit the available data LIFs. 

C. Use a shared SVM. 

D. Limit the maximum volume size. 

Correct Answer: A 
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